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· To add or subtract fractions, the bottom parts (denominators) must be the same.  If they are not the same, we have to make them the same.

· There are up to 3 questions you may need to ask, when doing these. Examples and questions are shown for each type.

1. Are the bottom parts (denominators) the same?

If no, go to 2.  

If yes, just add or subtract the top parts (numerators), the denominator stays the same. 

EXAMPLE        
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    The following diagram shows how this looks.
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Look at the bottom numbers (denominators) and ask the question:

Q1.  Are the denominators the same ?  YES.

The denominators are the same, equivalent.

So,  add the top numbers only.
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EXAMPLES:
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TRY THESE:  (cancel & turn to mixed numbers if possible)
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Answers   (answers with a * have been cancelled down)
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2. Does the smallest denominator divide exactly into the largest?

If no, go to 3.  

If yes, then the largest denominator is the “lowest common denominator”,  (L.C. D.)  You will need to convert the smaller denominator, to make the denominators the same.

EXAMPLE:    
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                      (4 will divide into 8, 2 times.  So, 8 is the L.C. D.  

                     Turn the quarter into the equivalent eighths.

                     8 ÷ 4 = 2, so 2 x 1 = 2.     So  
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A visual representation of this sum follows on page 3 .
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Look at the bottom numbers (denominators) and ask these questions:

Q1.  Are they the same ?  NO.

Q2.  Does the lower (4) divide exactly into the larger (8). YES.

So, the lowest common denominator (L.C.D.) of 4 and 8 is 8. 

So, convert the lower fraction to its equivalent in eighths.
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See how 
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ANOTHER EXAMPLE:            
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                     (5 will divide into 20, 4 times. So, 20 is the L.C. D. 

                    Turn the fifths into the equivalent twentieths.

                    20 ÷ 5 = 4, so 4 x 2 = 8. So,  
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TRY THESE:  (cancel & turn to mixed numbers if possible)
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Answers on last page.
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3. Go up the times table of the largest denominator, until the smaller denominator can divide into it.  This will be the lowest common denominator (L.C.D.). Both fractions have to change to the L.C.D.

EXAMPLE        
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                Go up the 4 times table until 3 will divide into it = 12.

                So, 12 is the L.C. D.

               Turn both fractions into the equivalent twelfths.

     12 ÷ 4 = 3, then 3 x 1 = 3,  so  
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              12 ÷ 3 = 4, then 4 x 2 = 8 ,  so 
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A visual representation of this sum follows on page 5..
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Look at the bottom numbers (denominators) and ask these questions:

Q1.  Are they the same ?    NO.

Q2.  Does the lower (3) divide exactly into the larger (4) ?   NO.

Q3.  Go up the times table of the largest number, until you reach a number the other can divide into.

12 is the lowest number both 4 and 3 will divide exactly into.

In other words, the lowest common denominator (L.C.D.) is 12. 

So, we must convert both fractions to their equivalent twelfths.
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See how 
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See how 
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See how     
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ANOTHER EXAMPLE             
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               (Go up the 9 times table until 6 will divide into it = 18.

               So, 18 is the L.C. D. 

               Turn both fractions into the equivalent eighteenths.

               18 ÷ 6 = 3, then 3 x 5 = 15 , so  
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Answers on last page.

Add & subtract with mixed numbers
· For addition, add the whole numbers and fractions separately. Add them together at the end.

EXAMPLE     4
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· For subtraction, turn into top heavy fractions, convert into the L.C.D. and subtract. 
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Answers on last page.
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